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Algebra 3 Final Exam Review: Matrices
For #1-3, state the dimensions of the matrix.

1. [ —6 9 2 3 -1
2 -3 -3 2. ;8 24 3. _01 g Z 343
Zx'%
For #4-6, determine if each matrix product is possible. If so, state the dimensions of the product,
4. Aixs Bsyy S. Ayxs ' Baxs 6. Asxz*Baxa
ge .l Ix? No Yes ; 2 1Y
For #7-9, determine the dimensions of matrix M.
7. Agxz M =By ' B, Apxa*M =By 9. Azyxg' M = Bgys
MB ® Y M 7| HBX 5

For #10 -20, use mafrices A-H.

P A I | L |

5 4
-2 3 ~1 5 3 0 9
F=[0 0 2] G=[D 4 —1] H=l—8|
-1 8 2 3 =5 0 2
.?' 0'
10.24—-38 1 8 -/§ 1n.¢c-p |z o
25 -4 -3% lo ~3
] - ) -1 -y -
1204 T3 )y G 13.E (Byhor[:d) Vj [# 7%]
-z 3 3 2 |17 lz =z
R " 7o
14. F~1 (By calculator) -% = 2 15.-2F +G a4 =
T = & o ¥ 3
P, T
16.C+D z © 17.6-H (21
cths -39
Not ‘Po»!U(’-f G:?J
18.B:D 23 -y b 19. Determinant of F
yy -Y¥o 3 bcf‘(g-‘]) 226
20. DeTerminan of E
1Y
21. Find AB 22. Find the determinant by hand of
5 6 ' 5 -3 2
A=|2 3 B=[8 0 "3] A=|6 10 -
-4 1 =2 1
s 346 9 -5
el 1€ 6

3L 6 n




For #23 - 26, solve the sysiems using matrices.

x4y =9 =13
23.{ Y X
9x+ [0y =-3 ﬂ-:*l"L

2x—y+ 2z =12 Xz |
25.[x+2y-—22=—11 j:—‘b
2x +y+3z=12

Show the matrix equation you used.

x+2y=2
3x+6y=06

TrBwl Solobons

24.{

—2x — 4z =12 A=

|
26.1-3y + 5z = —14 j -2
2

x+2y=7

Algebra 3 Final Exam Review: Chapter 3
For #1-4, rewrite each polynomial in standard form. Then identify the leading coefficient, degree and number of

terms. Name each polynomial,
17 ax5 -3 Yx5 FFa3
Leading coefficient H
Degree 5™ Number of Terms _3
Name _(dulofic  drtngmte|

3, 10x—3—2x% —9x% ~Ay% - 2" lox -3 4,

2. 246x3+2x—x_lox3e X 42
Leading coefficient (o

Degree 3™ Number of Terms _3
Name _{"obic {/Ff‘r\em!“o\

—Tx?—4x -~ Fxt-Yy

Leading coefficient -4
Degree _3'° Number of Terms Y
Name __{'whic, Tebecnameel

Leading coefficient __ — ¢
Degree _2" Number of Terms A
Name _(dudtoabe. Clromee

For #5-7, add or subtract. Write your answer in standard form.

5. (4x% +3) + (5x% +4)

Cfx?’«t»’}

For #8-16, find each product.
8. 3y(2x% + 5xy)

é K%j +i 5)(32’

11, (8m + 2)(7m — 3)
Slm® £ ~lom - ¢

14. (p? — p + 1)(6p* — 8p — 3)

éPngPS_SP'L__ (a g‘*_gpa_l_égp
rep+8p 3 (bp-s4p® riip*-Sp-5)

6. (10x% —7x%) — (Bx*+2x% + 4)

#x3 -9x* —y

9. 8(2x+2)
/6:-;( w16

12
12, (3x+z)
G+ 2% v 70

15. (b —5)3
b2+ 15 b + FSh 125

For #17-24, factor each polynomial completely.

17. 3x3 + 6x* +5x + 10

E C’o’ﬂw gy (x +2)

18. 21v3 + 56v% — 12v — 32

(5 v (I )

7. 24 2x*—x)— (7 +x*+3x)

xT -y -¢

10. {a.+ b)(4ab + b?)
Yarb rol? #Hab™+ b
Yslh + Sab® b3

13, (3x —2)Rx3 —x? +4x + 4)

éxg AV o i EVabdt N b BVAR U3+ 2Bk -

CoxT~143 4]4x™ + 4 x —‘D

16, (x + 3y)3
Vg*ﬁﬂg A z?;ﬁ

19. 12a® ~ 20a? + 21a — 35

(2a75) (a2 o3

1




20. 21x% — 7x* + 6x — 2 21. 125 + 8u® 22. 374x* + 81x

(3x-N (F2247) (5 ) (25 - 10w ) X (3303 80
23. 125 -—‘27u3 24, 8x* +x
(- 3u\ (25 15u 147) (2% + Y (Yx¥e 20 #1)

For #25-27, identify whether the function graphed has an even or odd degree, positive or negative leading coefficient
and the end behavior of the function,
25, 26, 27.

Ay .o Ay Ay

A

/\

\ \/ > X
o .
Odd or €vend @f Even? r Even?
Negative o@ Negative o@ @or Positive?
Asx - o0, f(x) & _ +CO Asx — oo, f(x) » _+HEO Asx — oo, f(x) >~
Asx - —oo, f(x) > _+ &0 Asx = —00, f(x) »__— X Asx — —oo, f(x) - +90
Divide using long division 7 Lo
28, (6x2+7x—2)+ (x +4) éx—f'}-l»-m 29. (22 —9x +10) + 2x + 1) x -¢ ;.Zifﬁ

Divide using synthetic division p

2 3% _
30, 30+ 407 —B) + (x—2) ¢ TIOXEWERT 31 et 43k —bx— )+ (x= 1) TGy ko

[dentify the roots of each equation,

32. 2% +15x2 + 75x + 125 = 0 -5 mollgleely 3 33. %3 —x% =324 496 =0 No Rabind (ofs
34.8x  —12x2 +6x—1=0 T Mo “-iplne"fB 3 35. 4x% + 16x% — 25x — 100 = 0
-4, % o5
i T

Algebra 3 Final Exam Review: Chapter 4
Find the inverse of each function,

1. f(x) = 15x 2. f(x)=3x+2 3. f(x):5__i_x
A - B N . A2 -y,
ﬂé{)" 16 3(")* 3 30&):%_5)
Write each exponential equation in logarithmic form.
4, 35=243 5. 2-3 =% 6. 165 = 64
logy 243 25 fog, § = °3 log 67215




Write each logarithmic equation in exponential form,

7. loggs 512 =15 8 log,8=3 9. lOgﬂeIlg =2
o ek
by“P=giz 23=% yz L
Simplify each expression, = /e

[ ] - LYY 7
10. log, 10 +log, 12.8 l‘?ﬂajlzg @11. log, 8+ 1og,2 los v G 12. logg 144 — logg 4 /ﬁ’ﬁ, Q'z@
- Do .
13. 10g 10,000 ~log 100 12 700 = 14. logs 64° = 15. logs 3%* = 2Zx

Solve each equation,
16, 3%*1=9%  X: 3 17.32%2 =8% % =5 18,9 =12 X = logy 12

19. logg(4x = 9) = logg(x) X¥=3  20.log;(10x+13) =3 X=33 21. log(20x) —log4 =2 x = Z0

22. logox®=8 x=3 4°% 23, qux+log(2x—-1)=1 24, logg()+2—0 w=1g
L ('Z-xq‘— < i Lyt oy =10
- ’21
Graph each function. K= @W Z'f 5
25, fx)=e*—1 26. f(x) = __%(37:) 27. f(x) = —4logx
0 T AT L S
i _ i
- [N .3
.10 ST 21\&¥ 6. 8.0
o] - 2_ i : =
y 838 Beas
L. -é---.
Algebra 3 Final Exam Review: Chapter 5
Simplify. Identify any x-values for which the expression is undefined. x4
ox° -4 X xF—x-2 X +| ~-x2+16 &g =Y =
Tz *X0, % Tiq 2 s XX 5 3 o ¥, X+
i
4xy? zox3y? x%-9 x+5 N X4 x R . r
it —lexy? —Z;-;f Ki% S Terio xms K& "—}’ b e CXO &C’“’ﬁ
YF
3x® | 9x x™ 1223y% | 6y 2,3t x°-16  x—4 . Xty
Chxed xel 2 X |, @ 8. 9xy = 3x ”i_ﬁ' X¥ 0 7. wrrants xrn XX UM K43
g¥e
Add or Subtract. Identify any x-values for which the expression is undefined. e Y
x+9 3x+6 _ Hxris -1 A - S o . 1 1 -
10. 2x+1 2241 2wk x¥ 7 T xh3 + ¥2-9 T xX+B S x24+6x+8  x2-6x-16 (¥ ﬂ)(}c‘-ﬁ)(ﬂ qu‘-?
X —ZI% 7
X=6 _ Bxt7 -3¢ ~13 I B g 7o xs -
13 s Xig X%s [ e ey ORI, 15 = ~ 7 Gx-12
S T XET, X1y x430
Simplify. :
> I 7 % 2 18 L2 ¥ +2
16, 22t - L 17. == -~ T Lz=2 - X HT
;fj ax -T;L Sx e X43

%% -~F,0 X%1,0, wx 2,72,3




Using the graph of f{x) = % as a guide, describe the fransformation and graph each function.

1 1 1
19.9(35):@ 20.g(x)=;+6 21.g(x)=m-5
4 10 ol |
-8 N L B L 53 :
i v .
4 T 4f 4 a
N O \,;i s
u i i
B_t1 41 B 8.1

[ P T
S & e R

ury

: 1
B TR
T

Identify the zeros, asympiotes and holes of each function. Then graph each function.
x?-sx-24 _ &-8) (x+3) 2x%3%-2

22. f(x) = e 23. f(x) =2 -
Z: {Z,Oj C"’-f’:&)
O L SAs Yeixes
; _z YN A
- 4 % VA: x= L{
i : ok (o)
1 RN
- d,/z4 ..... 2 i e g 1p A0)-8 ..aB__~L_~%/’ NF R ERE
L A /i o)
v F 4 \
L/ =4 Fi 4 \
57 N WY / 'i
. ¥ Vi 1=
rAZaRuNn _:5’5,,( : B
£ B - N /I B
0 O . - ZARNRNY N
_ —3x*+8x~4 _oxP-4x-21 (x’ - ?*)(x +3)
24. f(x) T 25. f(X) = 3
. _ — ° = 7 -3 -le
Ha: Y>3 T T” | [ [ Hex=3 (3,0)
VA & K=5,-5 oo Bri Shty=X?
- o Bl 6 T VAR N/A
%'{:(2’0)(_;_10\ I 4 " ............ 4
| . . e (F,0)
He N/A I GEREwES 2
OB B-h B NE 4 |6 8 0 oI TE A2 1314 [561D
1ol b N
S pess P
- Il / ) G |
L= |, J 1 - B
L 3
T In ' ? i




x2-3x . K (x-%

) (x-5 WK +9) 2. fx) =05 %’3)_

i . SRR SRR H: (3, 5)
7, s: ..... 1 ‘:V - :%— [ T PR 5A , %
8 + o Jow
!l - 4 L1 HA S N/IJf
2 S - - - =1 L '~
o - ¢ e % i {af O\
24461810 10]-8 | B Lt A L6810
2rirl SRERENN AR
-l T |4 i
& - : B
ARNIIN R 8 i
W e T T G NN
Solve each equation. |
ig e T _..1'.—3_5. -+ KoL E 3% L~ =2
28'12+3x 6 X 9 29.x x oz x= Ll 30'x+1+4_4x+4 *=e
xol_xt6 S _ 20 o RSP ST e
3l.—=— «=% 32 === fmiw B =-+; X232l
Solve edqch inequality
2x+1 ' 10 15
3425 >3 (Orl] 8.25<2 36. =<1 [i2, )
(—e0,-2) U (7, (-0 ,-3) ULIZ,
Graph each function. Identify the domain and range.
37.f() =Vx—4+1 38.f(x) = —3Vx 39. fx)=2¥x +2
. 10
8 i B o R ? . — [+]
o ‘ - ‘; o 8
bl 5 T i A Rem
SRR 4 i =
| E L 4 N :
,i ...... 2- 2 7
10586 2;2‘_‘ 4518130 IR RN X e ean 018 161. 1”2.:” 48 B 10
. AL 4_; o i _Z
: CH T el
! B P N R Lt LD
D: ox24 Dixzo D x=R
R.yzl Reyso 12:.3=n2
Using the graph of f{x) = vx as a guide, describe the transformations.
40. g(x) = vx —8 4].g(x)=-——-6\/35 42.g(x):§\[55+2
ReghF g Pebleckor over xoxs veried Conpression

\f{f‘}w‘a' S}YC/ZJ/\

usol




Algebra 3 Final Exam Review: Chapter 10
Use a trig function to solve for x.
1. 2.

) A
3 _ .S Cos LO = 75
- Sialye): 23
45 ey 3 25 ~760°
7 Besmfys)- x X 26 (o360 =x
2. _— 2¢« 4 = x
. 25
= ‘3——'\‘[3‘_ x= 2
Find the values of the six trig functions of @, o JEq_
3. g__t_ “ea Csce= qj
A Shb = 3 Sec &= _%9_
5 3 (@ Tiii Cot 6= ‘E’“
Ton = £
V34
ST+b*= 3¢ b=3
Find the measures of a positive and a negative angle that are coterminal with the given angle.
5. 8=20° 6. 0 = 400° 7. 0 =—-125°
! o 7. ¢ [
380° , ~390° 4o°, ~320 ~485,235
Find the measure of the reference angle for each given angle.
8. 8 =-120° 9. #=175° 10. 8 = 110°
5:2, = po” (9;4 =g ‘ ég = o
P is a point on the terminal s‘qe of @ in the standard position. Find the exact value of th%ja_il six trig functions fo f)__r,@
11, P(2,3) Shé= T3 £506 = 12. P(-1,4) smb = L2= uco-m_
CM@-.___LLN“' Sec® = UT? Coy G- "Lﬁ— Sec 8= S
Cotpm=2 % T I
Tom6 = 5 STeT o Tene = £ ot b=y
Covert from degrees to radians or radians to degrees. 7 o
13, —125° ~254 14, 10° 1T~ 15 L - | g° 16, =& = 0% or 35¢
3¢ i% 10 18
Use the unit circle to find the exact value of each trig function,
] -‘
17. cos 150° = "—Z--‘JT 18, tan"%E = | 19. sin%ﬂ = 7
70. sin2Z = Y3, 21. cos270° = © 22, esc225°= —J&
3 2

Find the area of each triangle, Round to the nearest tenth,

23,
A= L absmc

A- L B(SY st(@e”)
A= 7,047 carks (i)

(1 NG 2) S 35 )

3in. 17, 62 Y onb ()

5in.




Solve each triangle. Round to the nearest tenth.
25,

k- 249977

29,

2% .49495°

N
ﬂlr 621*?(‘2 e 'Z,(SV)('?,SE Cns(é&\

St bl 5 miM)

= M:=249. 004
IS 7.8

(= ¢ Mot 2 ()(10) Cos (90°)

smlth  sm B
3.480F G

51:w4L+q¢F-a<%d(ww3C%4”*

Sealo | SME g ooyl
2.6 7T £




